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QUESTION 1

Examine these commands: What is the expected result?

SQL> DESC ul.emp

Name Null? TYPE

EMP ID NUMBER
ENAME VARCHARZ (3)
SAL NUMBER
SQL> exit

[oracle@host0l ~]$§ cat emp.dat

1,Ben, 2000
2,Alan, 3000
3,Kevin, 4000
4,Sam, 5000

[oraclefhost0l ~]$ sglldr ul/cracle table=emp

A. It fails because EMP.DAT has some records with more than three characters corresponding to UL.EMP.ENAME.
B. Only the first row in EMP.DAT is inserted into U1.EMP.

C. Only the first and fourth rows in EMP.DAT are inserted into UL.EMP.

D. All rows in EMP.DAT are inserted into UL.EMP but ENAME is set to ### for the second and third rows.

E. All rows in EMP.DAT are inserted into UL.EMP but ENAME is set to NULL for the second and third rows.

Correct Answer: D

QUESTION 2

A user complains about poor database performance. You suspect that the user\\'s session is losing time waiting for
events to complete.

You want to verify this.
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Which view reveals on what events a session has spent time waiting in the past?
A. V$SESSION_WAIT_CLASS

B. VSSYSTEM_EVENT

C. V$SESSION

D. V$SESSION_EVENT

E. VSSESSION_WAIT

Correct Answer: C

Reference: https://blogs.oracle.com/oraclemagazine/beginning-performance-tuning

QUESTION 3

Which is true about roles?

A. A role can be granted to other roles.

B. Roles can be created only by SYS or SYSTEM.

C. Roles containing object privileges can be created only by the object owner.

D. All roles belong to the SYSTEM schema.

E. A role can be password-protected only if it has been granted system privileges.

Correct Answer: E

QUESTION 4

Examine the command:

CREATE USER userl
IDENTIFIED BY userl?23
DEFAULT TEMPORARY TABLESPACE temp
QUOTA SM ON system
PROFILE hr user
PASSWORD EXPIRE;

Which two are true? (Choose two.)

A. The PASSWORD EXPIRE clause is invalid because passwords are controlled by the HR_USER profile.

B. USERL1 requires a quota to be able to store objects in the default permanent tablespace.
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C. USERL1 will be prompted for a new passport at first login.
D. A quota on the temporary tablespace must be specified to enable USER1 to perform queries and transactions.
E. USER1\\'s account is locked.

Correct Answer: BD

QUESTION 5

Which two functions are performed by a listener?

A. creating a user session in the System Global Area (SGA)

B. verifying the service name in an incoming user request

C. verifying a user\\'s authentication credentials

D. maintaining the connection to a client\\'s user process until the user request is completed
E. returning the results of processing from the server process to the user process

F. connecting a user process to a server process

Correct Answer: EF

QUESTION 6

Which two types of files are opened by a database instance in the NOMOUNT state?
A. control files

B. the alert log

C. the initialization parameter file

D. data files

E. online redo logs

Correct Answer: CD

Reference: http://www.dba-oracle.com/concepts/starting_database.htm

QUESTION 7

Which statement is true about an undo tablespace created using the Database Configuration Assistant (DBCA)?
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A. It contains undo only for uncommitted transactions.

B. It is used for the FLASHBACK TABLE...TO BEFORE DROP operation.
C. It can be recovered while the instance is open in READ WRITE mode.
D. It must be a smallfile tablespace.

E. Itis a locally managed tablespace.

Correct Answer: AD

QUESTION 8

Which two are true about Oracle database wait events that are described in VSEVENT_NAME? (Choose two.)
A. They reveal the cause of performance problems.

B. They are grouped into classes.

C. They are maintained at the session and system level.

D. They display how often a database instance performs particular operations.

E. All events might be used by an instance regardless of parameter settings.

Correct Answer: AB

Reference: https://docs.oracle.com/cd/B28359_01/server.111/b28320/dynviews_1117.htm#REFRN30079

QUESTION 9

Which two are true about the AL32UTF8 character set? (Choose two.)

A. Itis used to encode data for columns of any data type.

B. It supports multilingual databases.

C. It uses less space than other character sets, for all data types.

D. It is used to store PL/SQL source code.

E. It improves the 1/0O performance of a database compared to other character sets.
Correct Answer: BC

Reference: https://docs.oracle.com/database/121/NLSPG/ch6unicode.htm#NLSPG316

QUESTION 10

Which two tasks does DBUA perform by default? (Choose two.)
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A. setting user tablespaces to "read only" before starting the upgrade

B. adding more data files if there is insufficient disk space for the SYSTEM tablespace during the upgrade
C. running the Pre-Upgrade information tool

D. starting the source database instance if not started

E. enabling flashback in the source database if not enabled

Correct Answer: AC

QUESTION 11

Which two statements are true about Oracle Data Pump? (Choose two.)

A. expdp and impdp are its client components.

B. impdp always uses conventional path inserts when importing data.

C. The DBMS_DATAPUMP package can be used only with Data Pump clients

D. It cannot be used to export data as of a previous SCN.

E. impdp can change target data file names, schemas, and tablespaces during import.
Correct Answer: AC

Reference: https://docs.oracle.com/cd/B19306_01/server.102/b14215/dp_overview.htm

QUESTION 12

Which two are true about the default listener for a single instance database? (Choose two.)
A. It must be defined in the LISTENER.ORA file.

B. It must support at least one service on startup.

C. It must be defined by using the Listener Control utility.

D. It listens on the default port 1521.

E. It uses the settings of the INSTANCE_NAME and SERVICE_NAMES parameters from all databases using that
listener.

Correct Answer: AD

QUESTION 13

What three are true about Oracle Flashback technology? (Choose three.)
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A. FLASHBACK TRANSACTION can be used to undo the changes made by a committed transaction.
B. FLASHBACK TABLE can be used to rewind a table back in time.

C. FLASHBACK DATABASE can be used to rewind a database back and forth in time.

D. FLASHBACK TABLE can be used to undo dropping a column from a table.

E. FLASHBACK QUERY can be used to view committed data at any given point in time.

Correct Answer: ACD

QUESTION 14

As the DBA, you execute this command:

GRANT SELECT ON hr.emp TO brown WITH GRANT OPTION;

BROWN then executes this command:
GRANT SELECT ON l’]_'c.emp T scott WITH GRANT QOPTION;

GRANT SELECT ON hr.emp TO scott WITH GRANT OPTION;

Which is true?

A. You can revoke only WITH GRANT OPTION from BROWN.

B. BROWN can revoke only WITH GRANT OPTION from SCOTT.

C. When you revoke the SELECT privilege from BROWN, it is automatically revoked from SCOTT.

D. When you revoke the SELECT privilege from BROWN, nothing is revoked from SCOTT.

E. When you revoke the SELECT privilege from BROWN, only the WITH GRANT OPTION is revoked from SCOTT.

Correct Answer: B

QUESTION 15

Which two are true about RETENTION GUARANTEE? (Choose two.)
A. Itis a tablespace attribute.

B. It prevents FLASHBACK DATABASE operation failure.

C. It prevents out-of-space errors.
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D. It prevents "Snapshot too old" errors.
E. Itis a static parameter.

Correct Answer: AB
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